Y9 Using Percentages
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What do | need to be able

Integer: whole number, can be positive, neagtive or zero
Invest: use. money with the godl of it ncressing in vaue. over time. (Usualy in a bark)
Multiplier. the. rumber you are. multiping by

Solve. reverse. percentage problems
Solve. percentage. problems (cakulator and
non cakulalor problems)

to do? Percent: parts per 100 —written using the. / symbol
Decimat a rumber 1 our base. 10 number system Numbers to the right of the decmal place are. caled decimals
By the end of this unit you shoukd be. abe to: Fraction: a fraction represents how many parts of a whole valbe you have.
*  Caculate percertage incresse and decreose
o Express percentace change Growth: to incresse./ 1o grow
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Use. FOP equivalence || Equivalent: of eqal vae I
: | Reduce: to make smaler in value |
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Profit: the ncome take away any expenses/ costs
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| EDP Equivlerce (R 1 Converting FOP - @ |
| S Percentace |: |
| o 1007 = avioke - 100 hindredtts | Ths gko 70 out of 100 : |

N 120 . " — 70 hundredths
| g \\ [|[ & ——> mews —> squares - - 707 |
| 2 0 hundredths I 100 70 - 100 70 Tundredths” FEEE | T
| 2 | 0] ou‘to o/F 100 I | tsnga - 7 ‘terths’ I
| - ~N 1| cakulator 07 |
: 10 1 Onehondredth I Be careful of recurmng decmas :
| 100 10~ 7 {one whok soit into 100 equdl parts) “ E — | 0 | Cconvert to a decmd eg ‘_’I) - 2.55)33333 |
[| oes | terirs hindredtrs I i v |
[ ‘s ° I \A x 00 converts to a The. dot gbove the 3 |
| I percentage |
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: Percentage Increase/ Decrease @) || Percentace change. @
|

| Decrease ncrease |

| 1007 . ‘ 007 o (ot phore for £200

| P < >4 > Ol year later sold it for £125

| 7/ | | | 007 Ol vaes of

| ¥ 427 Decrease by 58/ A e PR

| | T e— to the ORIGINGL

| value.

! . o _ | Percentage loss
| Muttpler 007 + 127 = 1127 Multipler "
|

| 100~ 058 - 042 4~ Less thun | 00+0Q- (2« Moeton | | 200 375/
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| Ceverse Percertaces } Dif ference in values

I

Original value

| bought & house. for £180,000, |
later sold it for £2 16,000

1407 of my number
84 What s the onginal
number?

407 of my rumber & 16
What am | thinking of?7
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: Original Number (100/) Origingl Number (100/) :
| A = | 1007
| [a[a]44T4T4 e 4]4T4] [elelelelel6lelelelelelelole] 11 | : _
~ J I 180000 |
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| 10 | —
I 407 - 16 Try to scde dowin to 10/ or 40/ - 84 | Percentage profit
L0/ -4 7 and then scale back up 0/ -6 I > 000
i / ' |1 Money made (profit « 100 =207
1007 - 40 to 1007 100/ = 60 T roft™ {55000
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